Multiply Review Nickname: Class:

L, e eRaE 2x6=__2
a) 10 b) 12 c) 14
D ass sas s Iw 3= 2
a) 8 b) 6 c) 9
3. 3,6,9,12,15,_ What is the missing number?
a) 18 b) 17 c) 16
4. 14,16,18, ______, 22. What is the missing humber?

a) 10 b) 20 c)19

5. 3+3+3+3isthesameas?

a) 4x3 b) 2x 3 c) 4x5
6. .............. 2x7: ?

a) 21 b) 14 c)12
T oyE.__ .9

a) 9 b) 10 c)0
8 1x12:= ?

a) 12 b)1 c)0

9. Bx8isthesameas....
a) 8x3 b)5x7 c)8x5

10. One candy costs 2 baht. How much would 5 candies cost?
a) 5 baht b) 10 baht c) 7 baht
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